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2y  087% (+1.4bp)
Sy 1.30% (+3.0bp)
10y 1.79% (+3.7bp)
30y 2.54% (+4.3bp)

[7|E} 10Y=]

Hz 115% (+6.3bp)
=9 0.08% (+5.5bp)
m2tA 036% (+5.8bp)
O|Et2|0}  146% (+7.5bp)
AT QI 112% (+4.7bp)
dz|A  809% (-11.5bp)
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DOWS30 18199.33 (+0.17%)
NASDAQ 5250.27 (-0.63%)
S&P500 213943 (-0.17%)

NIKKEI225  17391.84 (+0.15%)
SHANGHAI 311631 (-0.50%)

FTSE100 6958.09 (-0.85%)
DAX30 10709.68 (-0.44%)
CAC40 4534.59 (-0.14%)
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ly 14140% (+0.60bp)
3y 14050% (+0.70bp)
Sy 14540%  (-0.60bp)

10y 16330% (-0.70bp)
20y 16880% (-0.40bp)
30y 1.6900% (-0.30bp)
50y 1.6830% (-0.30bp)

1Y -3.60bp (+0.40bp)
2Y -485bp (+1.20bp)
3Y -225bp (+0.80bp)
5Y -440bp (+1.35bp)

10Y  -14.30bp  (+1.20bp)
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1Y 1.3950% (+1.50bp)
2Y 13775%  (+2.00bp)
3y  1.3825%  (+1.50bp)
5Y  1.4100% (+0.75bp)
7Y  14325%  (+0.75bp)
10Y 1.4900%  (+0.50bp)

1*2Y  -175 (+0.50bp)
2*3Y 050 (-0.50bp)
2*5Y 325  (-1.25bp)
3*5Y 275  (-0.75bp)
5¥7Y 225  (+0.00bp)
5¥10Y 800 (-0.25bp)
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0|=-9¢ W X|=F(MoM) (0f 4:0.1%, 0]7:0.1%)
92 28 WAI$F(MoM) (0 4:0.2%, 0|7F:-0.2%)
~AACEY L4 (0f A255K, 0| F:260K)
98 FEFH L0 (MoM) (0 4:1.2%, O|7TH:-24%)

F=-327| GDP(QoQ) (0f| 4+:0.3%, 0|7:0.7%) / GDP(YoY) (0f| &h:2.1%, O|7H:2.1%)




